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Section A
Answer the following (Attempt any three) 30)

1.  Find out total kilometers and total passenger kilometers from the following information:
No. of Bus =5 Each bus runs round trip daily =4
Working days in a month = 24 Passenger capacity = 50 passenger
Distance (one way) = 20 kilometer Actual passenger carried were 90%

2.  The following information is received for Job No. 131 of ‘A’ company Itd.
Materials : | Rs.3,415

Wages : | Department [ : | 80hours at Rs.2.50 per hour
Department I : | 60 hours at Rs.4.00 per hour

Overhead expenses were estimated as follows:

Variable overhead : | Department I Rs.5000 for 4000 direct labor hours
Department II Rs.6000 for 3000 direct labor hours
Fixed overheads : | Estimated at Rs.7,500 for 10,000 hours

You are required to calculate the cost of Job. 131 and estimate the percentage of
profit earned if the selling price quoted was Rs.4750.

3. The following is the summarized record as on 31* March 2016. Relating to contract No:
101 which were complete during the year.

Rs.
Material direct purchased 1200
Material supplied from stores 500
Direct wages 2200
Direct expenses relating to contract No.401 300
Architect fees 500
Overhead charges allocable to contract 800
Depreciation on machinery 200
Materials returned to stores 240
Contract price 8000

From the above information prepare Contract Account.
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How is cost sheet prepared under single costing system? State various elements of cost.
Write short notes on Joint product and By-products.

Section B
Answer the following (Attempt any four)
Write a notes on Work-in-progress in cost sheet
Write a notes on Process costing
What is batch costing? In which industries it is used?
Explain the work certified and uncertified
Write notes on operating costing
Explain the characteristics of Job costing.

Section C
Multiple Choice Questions
In which of the following enterprises ‘Operating Costing’ is not applicable?

(A) Oil refineries (B) Transport companies
(C) Hotel (D) Hospital
Which of the following cost unit is adopted by Goods Transport Co.?
(A) Perton (B) Per trip (C) Pertonk.m. (D) Perk.m.
Salary of drawing office will be include in overheads.
(A) Labor overheads (B) Administrative
(C) Factory (D) Selling
From the following, which item is shown in cost-sheet?
(A) Donation (B) Bad debt Reserve
(C)  Octopi paid in purchase (D) Income tax
The time limit for every job is
(A) Uniform (B) Annual (C) Different (D) Half yearly

Which costing system is used in cosmetic products manufacturing company?

(A) Jobcosting (B) Processcosting (C) Batch costing (D)  Unit cost

In process cost Accounts, Abnormal loss is debited to

(A) Trading A/C (B) Balance sheet
(C) Profit and loss A/C (D) Process A/C
Which item is not recorded in process Accounts?
(A) Salary (B) Material (C) Donation (D) Wages

In a process 2000 units are introduces, normal loss is 5% then units of normal loss will
be

(A) 300 units (B) 250 units (C) 100 units (D) 200 units
Carriage outward is shown in process cost Account as expense

(A) Factory (B) Office

(C) Sales and Distribution (D) None of these
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